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Question Id : 92090612761 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
Aep 3 3T YR WHR R YAdd Ueb U1 S 8, forae wrern € dguscly sufal
3TR TR Sufral BT YRd & a4 Iedre) ol FAnfu H4 & fore vieanfed favar S Te1 @ | 3w
e 314 8 o6 sRea @1 et el o1 w0 S H & siftie 9 s1fde 811 uurE Fed ¢ 6
= U1 & 3idiid 9e3d ®I 9idl & Ul Udbe R 0 34 3fear fomar g1 8w ug 9+ dva
€ e IY 9% &1 I o A 1 g3 &1 | 39 H1dhy &1 Igured wurEEt 4 g Aidl A
25 RydeR, 2014 B faa1 U1 AU UST IeA SN S AYBAENTT-ga S | 39 o &
Heraed Figd g 2 A ISR Fe71 IR 7 &1 B &l &1 [958 | 59 IeF1 4
T F31 1Y I8 81T 6 30 H &+ avg @t BiHd HH SRt auT W U 3 7 & axg el &1
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Bl GG DA | YR R a3l & Iaare= ¥ AR 81 Sem gurE &1 59 sy
BI IR B BT IeRaql 1 ST R oY 39 9 g axgeil &1 sl Idred &
o, 98 fay & A S # =nfee 81 S|

Sub questions

Question Number : 1 Question Id : 92090612762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUYeR TRl F STYR W U Ifa e fefeu

(1) Wi &1 fawn ¥ o wen (2) EYE IATGHI T T
(3) HS 3 30sT &1 YER &A1 (4) TN Hal &1 A
Options :

92090650401. 1
92090650402. 2
92090650403. 3
92090650404. 4

Question Number : 2 Question Id : 92090612763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o8 T YAl &1 pH H fafa:

A

B.

C:

D.

E;

AP 3 3fvsar HTdHH &1 e 3 § [ o & =3l =il &1 Fmior S # € aifde
g i 8l

3 HTHH BT IguTed YA o T A1l A 25 Ryawr, 2014 &1 fda o)
29 TIeHT ¥ 9 a%gsfl 3 Hiad $H gl

W O] ¥ & Iare | AR g1 s

= HHH ¥ R AR =i o1 Joft & wftifera g smam

1 feu U faeedi § 9 9el I &1 904 Hiferg :

(1)
(2)
(3)
(4)

A CDBE
EEB D CA
A BCDE
C D EAB

Options :

92090650405. 1
92090650406. 2
92090650407. 3
92090650408. 4

Question Number : 3 Question Id : 92090612764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A FyTRYME:

HYT | : AP 37 30T &1 312 & Hd &1 3=t =il &1 Fafor Sw A 8
FHUA Il - T H SR TN 3R AW ot I emdl &1 fas™ g
JWRIa HYF & 3MTelep H, A1 foU U fadhedl # ¥ Wel IR &1 994 SifoY

(1)
(2)
(3)
(4)

HU | 3R 11 ST TS B
&Y | SR 1| SFT 7Ted §
&Y | Fel €, Tfh HY 11 Tad §
HY | 7T0d 8, Afh B || Tel 8

Options :



92090650409. 1
92090650410. 2
92090650411. 3
92090650412. 4

Question Number : 4 Question Id : 92090612765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyE R E:

FYF| . AF 37 30T YRd WHR gRI UKIdd U U1 H1dHH 8, s A §
SgRIP ST R W FHFET 1 WRd H U Il @1 Al & g
UieaTied faran S|

Y AP 39 30sar HAHH A [ g S H ASHIR F¢7 3R TN P HINE &l
CARGEARREUIN

IS HYF & faid H, g fEu 71 fawedi § 9 "el 3T &1 994 Sifelw

(1) YIRS TI R

(2) HYF SR 1IEHI A §

(3) YA A g, AP HUF 11 3 HA &
(4) @Y 3T g, Albd HUA 1| T 8

Options :

92090650413. 1
92090650414. 2
92090650415. 3
92090650416. 4

Question Number : 5 Question Id : 92090612766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P | & 1Y = 1 @ e Sifee

Jt-1 Tt 1

A) BF 3 30sar sdEH S wm () 6 W A
g adgs

(B) W 3 3fUsT HHH BT 3Jgue- (1) TR axgsi & Fwior J
HRd & oo gt A T an

(€ TP g sivsw iy ¥ fw &3 iy 25 farer 2014
o afrarfsiar agft

(D) B g4 gftgm wrfen A urdEl (v) YR #1 Sa awar &1
@1 fay &mran &1 fasm g faewra &

a1 fau v fawedi 7 4 98 S &1 9 S

(1)
(2)
(3)
(4)

(A)-(11), (B)-(1), (C)-(IN), (D)-(IV)
(A)-(1I1), (B)-(I1), (C)-(IV), (D)-()
(A)-(11), (B)-(11), (C)-(IV), (D)-(IT)
(A)-(IV), (B)-(11), (C)-(IN), (D)-(1)

Options :

92090650417. 1
92090650418. 2
92090650419. 3
92090650420. 4

Question Id : 92090612761 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Aep 3 33U YR TP R R YAdd Ueb Q1 ST 8, forges wienn 4 dgusdly sufal
3R TR BuTl &1 YRd 7 U Idrel &I v $3A & e vienfed a1 sn W@ | s9e
Hien 31 8 o6 sRexa @t et il o1 FAmion S T & siftie 9 erfde 811 wurE wed ¢ f6
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&Y g1 Y I8 g1 fob =1 H &1 a%g &1 SIHd HH gril auT g7 S0+ =1 H &1 a¥3ff &1
frafa & w1 | S Sfamal SR g% T A0 URd H 81 g1 o1 39 Faid Ieeig S
D1 g UM | YR Rl I3 F Iadre # iR g1 S| guHsE 1 39 $sbd
®1 IR B BT Iexaql 81 ST HRG o9 @9 9 g axgeil &1 sl Ided &
o, 98 fay & fasfa <o @ wnfira 81 s

Sub questions

Question Number : 1 Question Id : 92090612762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUYeR el F STYR W U Ifaa e fefeu

(1) Wi &1 f&=n ¥ o wen (2) EYE TG BT AT
(3) WS 3 30sT &1 &R &1 (4) T Hal &1 faFHm™
Options :

92090650401. 1
92090650402. 2
92090650403. 3
92090650404. 4

Question Number : 2 Question Id : 92090612763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o8 T YAl &1 pH H fafa:

A

B.

C:

D.

E;

AP 3 3fvsar HTdHH &1 e 3 § [ o & =3l =il &1 Fmior S # € aifde
g i 8l

3 HTHH BT IguTed YA o T A1l A 25 Ryawr, 2014 &1 fda o)
29 TIeHT ¥ 9 a%gsfl 3 Hiad $H gl

W O] ¥ & Iare | AR g1 s

= HHH ¥ R AR =i o1 Joft & wftifera g smam

1 feu U faeedi § 9 9el I &1 904 Hiferg :

(1)
(2)
(3)
(4)

A CDBE
EEB D CA
A BCDE
C D EAB

Options :

92090650405. 1
92090650406. 2
92090650407. 3
92090650408. 4

Question Number : 3 Question Id : 92090612764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A FyTRYME:

HYT | : AP 37 30T &1 312 & Hd &1 3=t =il &1 Fafor Sw A 8
FHUA Il - T H SR TN 3R AW ot I emdl &1 fas™ g
JWRIa HYF & 3MTelep H, A1 foU U fadhedl # ¥ Wel IR &1 994 SifoY

(1)
(2)
(3)
(4)

HU | 3R 11 ST TS B
&Y | SR 1| SFT 7Ted §
&Y | Fel €, Tfh HY 11 Tad §
HY | 7T0d 8, Afh B || Tel 8

Options :



92090650409. 1
92090650410. 2
92090650411. 3
92090650412. 4

Question Number : 4 Question Id : 92090612765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyE R E:

FYF| . AF 37 30T YRd WHR gRI UKIdd U U1 H1dHH 8, s A §
SgRIP ST R W FHFET 1 WRd H U Il @1 Al & g
UieaTied faran S|

Y AP 39 30sar HAHH A [ g S H ASHIR F¢7 3R TN P HINE &l
CARGEARREUIN

IS HYF & faid H, g fEu 71 fawedi § 9 "el 3T &1 994 Sifelw

(1) YIRS TI R

(2) HYF SR 1IEHI A §

(3) YA A g, AP HUF 11 3 HA &
(4) @Y 3T g, Albd HUA 1| T 8

Options :

92090650413. 1
92090650414. 2
92090650415. 3
92090650416. 4

Question Number : 5 Question Id : 92090612766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P | & 1Y = 1 @ e Sifee

Jt-1 Tt 1

A) BF 3 30sar sdEH S wm () 6 W A
g adgs

(B) W 3 3fUsT HHH BT 3Jgue- (1) TR axgsi & Fwior J
HRd & oo gt A T an

(€ TP g sivsw iy ¥ fw &3 iy 25 farer 2014
o afrarfsiar agft

(D) B g4 gftgm wrfen A urdEl (v) YR #1 Sa awar &1
@1 fay &mran &1 fasm g faewra &

a1 fau v fawedi 7 4 98 S &1 9 S

(1) (A)-(1), (B)-(1), (C)-(1N), (D)-(IV)
(2) (A1), (B)-(IN. (O)-(IV). (D)-(I)
(3)  (A)-(), (B)-(I), (C)-(IV), (D)-(I1)
(4)  (A)-(V), (B)-(ID), (C)-(lI), (D)-()

Options :

92090650417. 1
92090650418. 2
92090650419. 3
92090650420. 4

Sub-Section Number : 2
Sub-Section Id : 920906417
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090612767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofifed & 9 fb wsdl 7 Suwd =1 82
A WIEY

B. wfad

C. HfHUEH

D. faemmH

E.  JUBR
11 fau v fawedt A @ 9t S &1 99 S

(1) &4d C A
(2) @ad C,D
(3) hdd A, B
(4) &dd B,D

Options :

92090650421. 1
92090650422. 2
92090650423. 3
92090650424. 4

Question Number : 6 Question Id : 92090612767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofifed & 9 fb wsdl 7 Suwd =1 82
A WIEY

B. wfad

C.  3HfYIEH

D. faemmH

E.  JUBR
11 fau v fawedt A @ 9t S &1 99 S

(1) &4d C A
(2) @ad C,D
(3) hdd A, B
(4) &dd B,D

Options :

92090650421. 1
92090650422. 2
92090650423. 3
92090650424. 4

Question Number : 7 Question Id : 92090612768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3@ ¥ 4 a1 HgTar $1 el 31 & -

(1)  HBR B (2) it gHUS! gl
(3) @S (4) IY B
Options :

92090650425. 1
92090650426. 2
92090650427. 3
92090650428. 4

Question Number : 7 Question Id : 92090612768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il # e[l a1 gerax 31 et o § -

(1)  HBHR B (2) Sfi¥® gHUS! §IHT
(3) @IS (4) THIY B
Options :

92090650425. 1
92090650426. 2
92090650427. 3
92090650428. 4

Question Number : 8 Question Id : 92090612769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & a1y gt 1 &1 e aifon

ail-| it i
(dTeF) (PRD)
(A) IFAAN @S () WEE FRS
(B) 98 Peglal A HIedl g () 0 BRB
() feareay 9 i F&adi g () FAERS
(D) & YTar | 38 e Sifere (V) 3{UIEH HRD

412 feu e fassedi § 9 el IR &1 994 SIfT;

(1) (A1), (B)-(1), (©)-(), (D)-(IV)
(2) (A=), (B)-(1, (C)-(V), (D)-(I)
(3) (A=), B)-(m), (C)-(), (D)-(V)
4) (A=, (B)-(IV), (O)-(), (D)-(1)

Options :

92090650429. 1
92090650430. 2
92090650431. 3
92090650432. 4

Question Number : 8 Question Id : 92090612769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & Ty gt 1 &1 e Sifon

- & I
(@) (@RD)
(A) WA @S (1) HEeE FRS
(B) dE Peclol A& HIedl g () HI0 BRD
() e d i Fead g () HABHRD
(D) & WTarF | 33 & Fifere (V) 3UEH RS

2 fdu e fasedi @ 9 el IR &1 9 DI

(1) (A)-(n. (B)-(1). (C)-(1), (D)-(IV)
(2) (A1), (B)-(1N), (C)-(IV), (D)-(I)
(3) (A=), B)-(1), (O)-(), (D)-(IV)
4 (A=, (B)-(IV), (O-(), (D)-(1)

Options :

92090650429. 1
92090650430. 2
92090650431. 3
92090650432. 4

Question Number : 9 Question Id : 92090612770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &F U didl R T 8 9199 § S1-41 9w g2

(1) - fagso (2) TUrErEs fago
(3) EarEs favmu (4) ufeorEeS fagsm
Options :

92090650433. 1
92090650434. 2
92090650435. 3
92090650436. 4

Question Number : 9 Question Id : 92090612770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T & U el H T 8 ared § i-47 fager g2

(1)  Grd-ies fagem (2) Turaras fago
(3) YEarEs fagwo (4) ufeorEe A
Options :

92090650433. 1
92090650434. 2
92090650435. 3
92090650436. 4

Question Number : 10 Question Id : 92090612771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 Ugah didt | are # fare fvar o1 dlu 87

(1) Ha far 2 Ot e
(3) Ydebifers fora (4) FTH Y PS8l
Options :

92090650437. 1
92090650438. 2
92090650439. 3
92090650440. 4

Question Number : 10 Question Id : 92090612771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH1 Uga: Hidl 8| arey 1 f5d fpar 1 | 82

(1) o« b (2) diftre form
(3) ydaifers fovan (4) IAHIAPRE T8
Options :

92090650437. 1
92090650438. 2
92090650439. 3
92090650440. 4

Question Number : 11 Question Id : 92090612772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FHH m-n+9 = 0 AU m+3n =19 B P B ald m 94T n & AF HAL: &

(1) 2,71 (2) 7,.-2
3 27 4 -2,7
Options :

92090650441. 1
92090650442 2
92090650443. 3
92090650444. 4

Question Number : 11 Question Id : 92090612772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHH m-n+9 = 0 AU m+3n =19 B P B ald m 94T n & AF HAL: &

(1) 2,71 (2) 7,.-2
3 27 4 -2,7
Options :

92090650441. 1
92090650442 2
92090650443. 3
92090650444. 4

Question Number : 12 Question Id : 92090612773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofg 8 =4 =2 AT x+2y +z=35Q A x BIAAE -

(3 (2) 4
3) 5 4 2
Options :

92090650445. 1
92090650446. 2
92090650447. 3
92090650448. 4



Question Number : 12 Question Id : 92090612773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofg 8 =4 =2 AT x+2y +z=35Q Al x BIAAE -

(. 3 (2) 4
3) 5 4 2
Options :

92090650445. 1
92090650446. 2
92090650447. 3
92090650448. 4

Question Number : 13 Question Id : 92090612774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=E 3 il & Agan aUl HeTaH &1 0H Bd x° —x’y+x°—)° ¢l U uun e
{:x2+y2] &1 T GIRI Sl gIl-

M (x-») @ (x+y)
@ (F-y) @ (x-y+xy)
Options :

92090650449. 1
92090650450. 2
92090650451. 3
92090650452. 4

Question Number : 13 Question Id : 92090612774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fargl &1 ool & TYTH aUl 7 &1 0F Bd x° - X2y +x°— 7 el Ofe uyn aied
(Jr2+y1] &1 T GIRI Sl gIl-

M  (x-y) @ (x+y)
® (s @ frpend
Options :

92090650449. 1
92090650450. 2
92090650451. 3
92090650452. 4

Question Number : 14 Question Id : 92090612775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:-'%% Mo R TS 1 &R Y BIS YARIR e T 3 St WA &1 AT 81 SIRm?

(1) 14393 HE ) 1394 4H@
3) 13349HE @) 1394 3H@
Options :

92090650453. 1
92090650454. 2
92090650455. 3
92090650456. 4

Question Number : 14 Question Id : 92090612775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?%% e TR 0TS B &% © P 4RI oo g # S0t WA 1 AT 81 SIm?

(1) 14393 HE 2) 1394498
3) 13349HE 4) 13943 7@
Options :

92090650453. 1
92090650454. 2



92090650455. 3
92090650456. 4

Question Number : 15 Question Id : 92090612776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10% aTfte Twgis s $i &Y U g que o1 e 6 A H 216,810 8 SQT Sl
=1 famTe! ashqfs foran man g1

(1) 216,400 (2) 15,500
(3) $15,000 (4) 16,000
Options :

92090650457. 1
92090650458. 2
92090650459. 3
92090650460. 4

Question Number : 15 Question Id : 92090612776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10% aTfte awais s $i oY A g que @1 e 6 Ae A 216,810 B ST Sl
&1l fare! Seegfe ferar mar g2

(1) 216,400 (2) T15,500
(3) 215,000 (4) 16,000
Options :

92090650457. 1
92090650458. 2
92090650459. 3
92090650460. 4

Question Number : 16 Question Id : 92090612777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



8CM@NLT2Y6SaQ$7*W#T3UE%A4 IURIad hH fa-ur ¥ fba ddhd § o dabrd ydadf
IR AHT IR Habd Ueh TR AU g

i (2 2
3 3 4) 4
Options :

92090650461. 1
92090650462. 2
92090650463. 3
92090650464. 4

Question Number : 16 Question Id : 92090612777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y65uQ$7*W#I3UE%A4 IWRIad oH a0 # fava ddhd & o dapra gdadl
3R debTd ITRad| b U TR quf 2|

(1) 1 (2) 2
3 3 @) 4

Options :

92090650461. 1
92090650462. 2
92090650463. 3
92090650464. 4

Question Number : 17 Question Id : 92090612778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®YF ;. UD Dlad [dendf A BT TP i 31 ¢ (& dg U Al e Wila |
HINYROT | U AfRITd HYER ATl Te1 U faariaar g

Il : U HldrTd HgeR Al B [0 J Iig 18
(1)  $dd YR |
(2) FHdd gdYrRo ||
(3)  Hdd YdYRON | 3R YR ||

(4) T d YR | 3R 7 & qdURon ||

Options :

92090650465. 1
92090650466. 2
92090650467. 3
92090650468. 4

Question Number : 17 Question Id : 92090612778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®YF ;. UP Dlad [dandf A BT TP i 31 ¢ (& 98 U Afda1d e Wile |
SHIUYRON | : U AfTITd HHER AT Hdl gl U aaidl g |

Il ; U HfeaTd HRgeR Hadl DI Toa J gfg FAT 3
(1)  Fdd QdyRoN |
(2) Fdd JdYRO ||
(3) Hdd YdYRON | 3R QIR ||

(4) T gdHRoN | 3R 7 & gdUrRon ||

Options :

92090650465. 1
92090650466. 2
92090650467. 3
92090650468. 4

Question Number : 18 Question Id : 92090612779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A U= & IS0 7 3T ST J1d B |

D ADNAR
ey W O

(1) =30 (2) 13
(3) 18 (4) 30
Options :

92090650469. 1
92090650470. 2
92090650471. 3
92090650472. 4

Question Number : 18 Question Id : 92090612779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A U= & IS0 7 3T ST J1d B |

anWangar
oy W

(1) =30 (2) 13
(3) 18 (4) 30
Options :

92090650469. 1
92090650470. 2
92090650471. 3
92090650472. 4

Question Number : 19 Question Id : 92090612780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3mg # o e § gHSI 87

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090650473. 1
92090650474. 2
92090650475. 3
92090650476. 4

Question Number : 19 Question Id : 92090612780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 3mg # fba-Tt S # gHSI 87

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090650473. 1
92090650474. 2
92090650475. 3
92090650476. 4

Question Number : 20 Question Id : 92090612781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



45 D1 TS D&l 8, el R dgd aaidd 4 gl 74 g, iar A § WRed /A R g1 3l 6 d8d
Tl 8 ugd €, fbait wsfeal 4ot 7 Iud uyrd g

(m 34 (2) 24
(3) 10 (4 12
Options :

92090650477. 1
92090650478. 2
92090650479. 3
92090650480. 4

Question Number : 20 Question Id : 92090612781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

45 B! Ud Bl 8, Wel R ded dsfbdl 4 41 7A g, idr o 3 uRed wA w31 3fd 6 dsd
Titar § ug €, fpal wrsferal 4oft # Iud uyrd gl

(M 34 (2) 24
(3) 10 (4 12
Options :

92090650477. 1
92090650478. 2
92090650479. 3
92090650480. 4

Question Number : 21 Question Id : 92090612782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRtel-9-Ffbdd gRuRm< Hore [ Rid g8 — MOHF10 & ferg, fo™ = faar 1

(1) e-Ffdd (E-chikitsa) (2) e-ToitgHl (E-sanjeevani)
(3) e-4dY (E-swasthya) 4) e-fFatoy (E-nirvana)
Options :

92090650481. 1
92090650482. 2
92090650483. 3
92090650484. 4



Question Number : 21 Question Id : 92090612782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 4-fafdeae grumHe yumdl fasRid g5 — MOHF10 & forg, o A e a1

(1) e-ffda (E-chikitsa) (2) e-Huitg-l (E-sanjeevani)
(3) e-4d¥Y (E-swasthya) 4) e-fAafor (E-nirvana)
Options :

92090650481. 1
92090650482. 2
92090650483. 3
92090650484. 4

Question Number : 22 Question Id : 92090612783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fas, oer, MR oIk GHGRd gpyfll & s 91 & o aew apufa gR1 wAFId g
oI 87

(1) 20 (2) 8
(3) 12 (4 15
Options :

92090650485. 1
92090650486. 2
92090650487. 3
92090650488. 4

Question Number : 22 Question Id : 92090612783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagm, e, Wity SR GAGRE gy & 50 941 & fhaa Yawg upufd gR1 w=HI fbg
T 87

(1) 20 (2) 8
3) 12 (4) 15

Options :



92090650485. 1
92090650486. 2
92090650487. 3
92090650488. 4

Question Number : 23 Question Id : 92090612784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR ST Ay daa WideR — A UTg &di el

(1) HRd & Hars gaay (2) HRHY T4
(3) HNd D! Tl (4) HaHE I
Options :

92090650489. 1
92090650490. 2
92090650491. 3
92090650492. 4

Question Number : 23 Question Id : 92090612784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &1 YAy Jaa MiYeR —— Y U Sl o

(1) HRd P Yaf= ey (2) HRHY T9g
(3) HRd &I Sl 4) HuAE T
Options :

92090650489. 1
92090650490. 2
92090650491. 3
92090650492. 4

Question Number : 24 Question Id : 92090612785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 2025 T Thd WY Toldl (CNES) & FedRT 3§ YR faikel 38 W8 (ISRO) BIH
1 e 3R™ &R &1 TIoHT 41 8T 2

(1) W - oA 2 vewfd
(3) = fEE @) b e
Options :

92090650493. 1
92090650494. 2
92090650495. 3
92090650496. 4

Question Number : 24 Question Id : 92090612785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 2025 T Thd WY Toldl (CNES) & FedRT 3§ YR faikel 38 W8 (ISRO) BIH
1 e 3R™ &R &1 TIoHT 41 8T 2

(1) W - oA 2 vewfd
(3) = fEE @) b e
Options :

92090650493. 1
92090650494. 2
92090650495. 3
92090650496. 4

Question Number : 25 Question Id : 92090612786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Icy & Uil UG Slcd fshved IS S E !

(1) ¥ FgH siiaass

(2) TRifd®H SEHiaEs

3) Fuferpia Riferdbe

@) o R sffarss iR Riftie Sgsiiaarss &1 fayo

Options :
92090650497. 1
92090650498. 2



92090650499. 3
92090650500. 4

Question Number : 25 Question Id : 92090612786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Icy & Uil UG Slcd fshved IS S E !

(1) o Fe sffegs

2 Rt sEaiiazs

3) e Riferde

@) o R sffarss iR Riftie Sgsiiaarss &1 fayo

Options :

92090650497. 1
92090650498. 2
92090650499. 3
92090650500. 4

Part B: Soil Science Soil and Water Conservation

Section Id : 920906254
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906418
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090612787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Soil particle movement by wind through saltation process is usually applicable to the
particles of size:

(1) 0.05 mm to 0.50 mm (2} 0.5 mm to 0.75 mm
(3) 0.75 mmto 1.0 mm (4 1.0 mm to 1.5 mm
Options :

92090650501. 1
92090650502. 2
92090650503. 3
92090650504. 4

Question Number : 26 Question Id : 92090612787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Safvad O & \rerd 9 9 & g1 Ja1 S0 9o GHdl & ol & ufd

SR B

(1 0.05 A Fo.s0 2) osfa . Fo7s

@ o7sfm W Irof A @) 10w 3150
Options :

92090650501. 1
92090650502. 2
92090650503. 3
92090650504. 4

Question Number : 27 Question Id : 92090612788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The thickness of gravel pack in tube wells generally varies from:

(1 20to 25 cm (2) 15to 20 cm
(3) 8tol15cm 4) 4to8cm
Options :

92090650505. 1
92090650506. 2
92090650507. 3
92090650508. 4

Question Number : 27 Question Id : 92090612788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tl 7 gordl died % diers amraaar _ d@ uRafdd gidt 81

(1) 209259 Ht 2) 159203
(3) 8d 15T (4 4¥8H s
Options :

92090650505. 1
92090650506. 2
92090650507. 3
92090650508. 4

Question Number : 28 Question Id : 92090612789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The typical sand dunes have a slope on the windward side to a magnitude of:

(1) 1° to 2.5° (2) 25°to5°
(3) 5° to 10° (4) 10°to 15°
Options :

92090650509. 1
92090650510. 2
92090650511. 3
92090650512. 4

Question Number : 28 Question Id : 92090612789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¥ & URefe Adl & yariingE Rl siRus gaq _ A Sl @t @ |

(Mm  1°¥25° (2) 25°¥s5e
3) 59 10° 4) 10°H15°
Options :

92090650509. 1
92090650510. 2
92090650511. 3
92090650512. 4



Question Number : 29 Question Id : 92090612790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The line drawn on a map connecting the points of equal rainfall depth is called:

(1) lsobar (2) Isohyet
(3 lsotherm (4) Isochron
Options :

92090650513. 1
92090650514. 2
92090650515. 3
92090650516. 4

Question Number : 29 Question Id : 92090612790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpeft mrafers oR uE g eAar & famgefl &1 SO &% arefl W1 FEendi € |

(1) GHeSE ¥l (2) THIH @l
(3)  THAY @l (4) THDTE @l
Options :

92090650513. 1
92090650514. 2
92090650515. 3
92090650516. 4

Question Number : 30 Question Id : 92090612791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the length of the slope is doubled, the soil erosion by water will:

(1 Decrease to 0.4 times (2) Increase to 1.4 times
(3) Remain the same (4) Increase twice
Options :

92090650517. 1
92090650518. 2
92090650519. 3
92090650520. 4



Question Number : 30 Question Id : 92090612791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe freh grem & arars &) i ST e Al Sa S gRIPET g @IS g |

(1)  04TATHH (2) 1.4 7 3MfUd
(3) TYEq (4) <R[ gfs arer
Options :

92090650517. 1
92090650518. 2
92090650519. 3
92090650520. 4

Question Number : 31 Question Id : 92090612792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an engineering measure for soil and water conservation:

(1) Contour farming (2) Strip cropping
(3) Contour bunding (4) Crop rotation
Options :

92090650521. 1
92090650522. 2
92090650523. 3
92090650524. 4

Question Number : 31 Question Id : 92090612792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prof@ & & 9 a1 vd o WRev 3 U i ads 2 2

(1) G i (2) USlGR Py
3) A dYF (4) Y A
Options :

92090650521. 1
92090650522. 2
92090650523. 3
92090650524. 4



Question Number : 32 Question Id : 92090612793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Theissen polygon method is used for determination of :

(1) Point rainfall (2) Rainfall intensity
(3 Mean areal rainfall (4) Mean rainfall intensity
Options :

92090650525. 1
92090650526. 2
92090650527. 3
92090650528. 4

Question Number : 32 Question Id : 92090612793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIS Tgas Tomedt F P ag g A 2 |

(M  fag oo (2) Il g

3)  fad &g auu (4)  3{3frgd auur digar
Options :

92090650525. 1
92090650526. 2
92090650527. 3
92090650528. 4

Question Number : 33 Question Id : 92090612794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a non-recording type rain gauge?

(1) Tipping bucket type (2) Symon type
(3) Float type (4) Weighing type
Options :

92090650529. 1
92090650530. 2
92090650531. 3
92090650532. 4



Question Number : 33 Question Id : 92090612794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafad & &1 sEfieE UsR gufard g2

(1) 3AI0 Uy S YR (2) WEHH UPR
(3) Td USR (4) HRUI TR
Options :

92090650529. 1
92090650530. 2
92090650531. 3
92090650532. 4

Question Number : 34 Question Id : 92090612795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a rain gauge receives 10 cm rainfall in 5 hours, the average intensity of rainfall will be:

(1) 10 mm/h (2) 15 mm/h
(3) 20 mm/h (4) 25 mm/h
Options :

92090650533. 1
92090650534. 2
92090650535. 3
92090650536. 4

Question Number : 34 Question Id : 92090612795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe $1g auiardt 5 9 & 10 F. 1 auf urg a1 € o 9w &1 siad diga gnft

M 10T s ge 2) 15 fadd e
3) 20 ge () 25 de
Options :

92090650533. 1
92090650534. 2
92090650535. 3
92090650536. 4



Question Number : 35 Question Id : 92090612796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a rainfall event has a return period of 20 years, the probability of exceedance for this
event will be:

(1) 0.02 (2) 0.05
(3) 0.002 (4) 0.005
Options :

92090650537. 1
92090650538. 2
92090650539. 3
92090650540. 4

Question Number : 35 Question Id : 92090612796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe f<ht avur-ge &t uaady siafd 20 aut @1 8, @ 39 ue gq sifava &t miear gt

(1 002 (2) 0.05
(3) 0.002 (4) 0.005
Options :

92090650537. 1
92090650538. 2
92090650539. 3
92090650540. 4

Question Number : 36 Question Id : 92090612797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The rational method is generally used for computation of:

) Mean areal rainfall (2) Runoff volume
(3 Rainfall intensity (4) Peak runoff rate
Options :

92090650541. 1
92090650542. 2
92090650543. 3



92090650544. 4

Question Number : 36 Question Id : 92090612797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THUTRY YRl AR e 8d Wga el @ |

(1) 3frad &g au (2) drg Ui
3y  adu digan (4) i ag e
Options :

92090650541. 1
92090650542. 2
92090650543. 3
92090650544. 4

Question Number : 37 Question Id : 92090612798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Total potential in soil-water does not include:

(n Gravitational potential (2) Back potential
(3) Osmotic potential (4) Pressure potential
Options :

92090650545. 1
92090650546. 2
92090650547. 3
92090650548. 4

Question Number : 37 Question Id : 92090612798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e od ¥ $a fava safdy el swar g

() &g f@Aya (2) Y faumE
(3) TR (4) <E fave



Options :

92090650545. 1
92090650546. 2
92090650547. 3
92090650548. 4

Question Number : 38 Question Id : 92090612799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One bar pressure is equal to:

(1) 10 Pascal (2} 100 Pascal
(3) 10° Pascal (4) 10° Pascal
Options :

92090650549. 1
92090650550. 2
92090650551. 3
92090650552. 4

Question Number : 38 Question Id : 92090612799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THEHSE_ PR el

(1) 10 Y| (2) 100 URehd
(3) 10° UR&Gd (4) 10° O&hd
Options :

92090650549. 1
92090650550. 2
92090650551. 3
92090650552. 4

Question Number : 39 Question Id : 92090612800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the field capacity for a field is 30% and the permanent wilting point is 10%, the available
water for plant growth will be:

(1 20% (2) 25%
(3) 18% 4 12%

Options :

92090650553.
92090650554.
92090650555.
92090650556.

AW N~

Question Number : 39 Question Id : 92090612800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g%ﬂlﬁﬂﬁﬂﬁ'gﬁﬁimﬁﬂ 30% ¢ IR @) W@l fdg 10% & i urey aefH &q Sude wd__
|

(1 20% (2) 25%
(3) 18% 4) 12%

Options :

92090650553.
92090650554.
92090650555.
92090650556.

N O R O R

Question Number : 40 Question Id : 92090612801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Darcy's law is applicable as long as the flow is:

(M Turbulent only (2) Laminar only
(3) Both Laminar and turbulent flow (4) Transient flow
Options :

92090650557 1
92090650558. 2
92090650559. 3
92090650560. 4



Question Number : 40 Question Id : 92090612801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

erff &1 P o s e e db uae |

(1) dd ue 2) Fda @iy
(3) &9 3R vee Udrg Sl (4) & uare
Options :

92090650557. 1
92090650558. 2
92090650559. 3
92090650560. 4

Question Number : 41 Question Id : 92090612802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The intrinsic permeability of a porous medium has the dimensions of:

1 L () et
3 L2 (4) LT?
Options :

92090650561. 1
92090650562. 2
92090650563. 3
92090650564. 4

Question Number : 41 Question Id : 92090612802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pl T A B TS IR A L FT U §

(1) L (2] LT
3 L (4) LT
Options :

92090650561. 1
92090650562. 2
92090650563. 3
92090650564. 4



Question Number : 42 Question Id : 92090612803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Keeping other dimensions same, by doubling the radius of influence of the well, the
discharge of the well will be:

(1) Increased by 5% (2) Decreased by 10%
(3) Increased by 10% (4) Decreased by 5%
Options :

92090650565. 1
92090650566. 2
92090650567. 3
92090650568. 4

Question Number : 42 Question Id : 92090612803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬁfﬂﬁﬁfﬁ'wr@ﬁ U 3 U & TUTd $1 B $1 G #5348 $U $1 S{1E

(1) 5% dftfa (2) 10% BIf¥d
(3) 10% dfdd (4) 5% BIf¥rd
Options :

92090650565. 1
92090650566. 2
92090650567. 3
92090650568. 4

Question Number : 43 Question Id : 92090612804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following methods is not used for determination of aquifer constants for
unsteady flow conditions in confined aquifer?

(1) Theis method (2) Theim method
(3) Jacob method (4) Chow method
Options :

92090650569. 1



92090650570. 2
92090650571. 3
92090650572. 4

Question Number : 43 Question Id : 92090612804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafaa # @ 1= 9 gored 5 uftes Saya 7 R uve saen & fon sayd RRis
& el g vt T Ecil 82

(1) 939 Yot (2) A YoMl
(3)  oiPd YUl (4) <19 WU
Options :

92090650569. 1
92090650570. 2
92090650571. 3
92090650572. 4

Question Number : 44 Question Id : 92090612805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The formation loss in a pumping well is directly proportional to the discharge (Q) as:

(1 Q* (2) Q
B¢ @ 4
Options :

92090650573. 1
92090650574. 2
92090650575. 3
92090650576. 4

Question Number : 44 Question Id : 92090612805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fadt quea (dftrn) $u o 9d- T & 3TE (Q) ¥ fra =g H Hien v g € 2

(n a¥n (2) Q
B Q@ 4 Q@

Options :



92090650573. 1
92090650574. 2
92090650575. 3
92090650576. 4

Question Number : 45 Question Id : 92090612806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On the basis of sieve analysis of aquifer material after boring, the uniformity coefficient is
the ratio of:

(m 60% material retained to 10% material retained

(2 60% material retained to 40% material retained

)
(3)  40% material retained to 60% material retained
)

(4 40% material retained to 90% material retained

Options :

92090650577. 1
92090650578. 2
92090650579. 3
92090650580. 4

Question Number : 45 Question Id : 92090612806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eF T Tayd IR & e favayor & SyR W UGEHE qoid_ HT 3 §

(1) 60% urfed Tt & 10% enfya areft
2  60% urfed Tt § 40% nfyd arEh
() 40% enfed Il | 60% enfyd ard
@ 40% efed Il | 90% enfyd ardt

Options :

92090650577. 1
92090650578. 2
92090650579. 3
92090650580. 4

Question Number : 46 Question Id : 92090612807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to affinity laws, the discharge from the pump Q, and impeller speed N, are
related as:

(M Q=N (2) Qe N*
3) QeN? (4) Qe N?
Options :

92090650581. 1
92090650582. 2
92090650583. 3
92090650584. 4

Question Number : 46 Question Id : 92090612807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sy fan & SFUR, T (U9) Q © ST sidwe T f = # wwifea 87

(1 QuaN (2) QaN*
) QaN? 4 QaN?
Options :

92090650581. 1
92090650582. 2
92090650583. 3
92090650584. 4

Question Number : 47 Question Id : 92090612808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the diameter of impeller of a centrifugal pump is doubled then the total dynamic head
will be:

(1) Half (2) Double
(3) 4 times (4) 8 times
Options :

92090650585. 1
92090650586. 2
92090650587. 3
92090650588. 4



Question Number : 47 Question Id : 92090612808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gmmﬁmmﬁmﬁwﬁ?maﬁﬁgﬁmm%mmfﬁwmm

(y S (2) <FH
(3) IR AT (4) SIS Tl
Options :

92090650585. 1
92090650586. 2
92090650587. 3
92090650588. 4

Question Number : 48 Question Id : 92090612809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the speed of the impeller of a centrifugal pump is doubled, the horse power of the pump
will

m Reduce to half (2) Be doubled
(3 Become 4 times (4) Become 8 times
Options :

92090650589. 1
92090650590. 2
92090650591. 3
92090650592. 4

Question Number : 48 Question Id : 92090612809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af, frl S=sToam eued (Uu)& ave o 9rd & G & o ol & enea (du) it
3% gifad gt

(1)  Bfd giee amedt (2) g g et |
(3) AR TEE S | (4) 3T T 81 et |
Options :

92090650589. 1



92090650590. 2
92090650591. 3
92090650592. 4

Question Number : 49 Question Id : 92090612810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a centrifugal pump has water horse power of 10 H.P,, and the pump efficiency is 80%, the
required B.H.P. will be:

(M 10 H.P (2) 125HP
(3 14 H.P (4) 18H.P
Options :

92090650593. 1
92090650594. 2
92090650595. 3
92090650596. 4

Question Number : 49 Question Id : 92090612810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe et Sur g (U9 )3 U 10 T, B o sy ufE € ofR qHed (o) 1 S
&{FTCT 80% & o Sfatér ot Ta ul gft

Mm  1oTad 2) 125 Tad
3) 14T (4) 18T
Options :

92090650593. 1
92090650594. 2
92090650595. 3
92090650596. 4

Question Number : 50 Question Id : 92090612811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Anemometer is used for measurement of

(M Evapotranspiration (2) Soil moisture
(3) Wind direction (4) Wind speed
Options :

92090650597. 1
92090650598. 2
92090650599. 3
92090650600. 4

Question Number : 50 Question Id : 92090612811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gaaTHT farad Ao 8 UgE gl ¢ ?

(1) arsereH (2) Hal- 3Tl

(3) gaa-femm (4) Ud-IE
Options :

92090650597. 1
92090650598. 2
92090650599. 3
92090650600. 4

Question Number : 51 Question Id : 92090612812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most economical channel section of trapezoidal shaped with 1:1 side slopes should
have the width of the channel bottom 'b’ and depth of flow as 'd’ related as:

(1) b = g tand5° (2) b= ﬂ—ft.§|n2.2.5‘f‘
2 2

(3) b = 2d tan45° (4) b =2dtan22.5°

Options :

92090650601. 1
92090650602. 2
92090650603. 3
92090650604. 4



Question Number : 51 Question Id : 92090612812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1:1 ®1 UTed UGUId1 & 1Y FHad! pfa & gditle snfife yora & wond sierd &1 91eTE ‘B
3R yumd &1 MR o wu o gaftrd g+t @nfeu

(1) b = ST 45° (2) b =Y, TR 22.5°
(3) b =2d T 45° (4) b =2d LT 22.5°
Options :

92090650601. 1
92090650602. 2
92090650603. 3
92090650604. 4

Question Number : 52 Question Id : 92090612813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a rectangular channel with bottom width as 1 m and depth of flow as 0.5 m, the hydraulic
radius will be:

(M 0.25m (2) 050m
(3) 1.50 m 4 20m
Options :

92090650605. 1
92090650606. 2
92090650607. 3
92090650608. 4

Question Number : 52 Question Id : 92090612813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe feeht SmTaTeR Uone $i S 9reTs 1 1. 3R uarg &t MR 0.5 1, 8 a1 Jeedt
s gt

(1) 0254 (2) 0.50 .
(3) 150H 4) 2.0

Options :



92090650605. 1
92090650606. 2
92090650607. 3
92090650608. 4

Question Number : 53 Question Id : 92090612814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most economical rectangular channel section with bottom width ‘b’ and depth of flow
'd’ should be related as:

(1) b=d (2) l:r-i

2

b b

3 d=— 4) d==

(3) > (4) 7
Options :

92090650609. 1
92090650610. 2
92090650611. 3
92090650612. 4

Question Number : 53 Question Id : 92090612814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forsht wdftres snffer SRITareR TuNa ST & sitRdd drsTs ‘b’ R Udrg & 1R ‘o
_ ®q A gdfYd gt afgu |

(1) b=d (2) b= g

2

b b

(3) d= > (4) d= 2
Options :

92090650609. 1
92090650610. 2
92090650611. 3
92090650612. 4

Question Number : 54 Question Id : 92090612815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Manning's roughness coefficient 'n’, Chezy's coefficient ‘c’ and hydraulic radius of the
section 'R’ are related as:

(1) n=R%/c @) n=R)/c
Options :

92090650613. 1
92090650614. 2
92090650615. 3
92090650616. 4

Question Number : 54 Question Id : 92090612815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gﬁﬂaﬂwmw'ng ol 1 UM ‘¢’ 3R U B el B 'R w0 H wrEfid

2

(1) n=R%/¢ (2) n=(R3)/c
3 i [ RH] 4) c=nR?
Options :

92090650613. 1
92090650614. 2
92090650615. 3
92090650616. 4

Question Number : 55 Question Id : 92090612816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An agriculture field has actual moisture content of 15% and its field capacity is 23% by
weight. If the depth of root zone is 1.0 m and specific gravity of soil is 2.5, compute the
depth of irrigation required.

(1) 10 cm (2) 15cm
(3) 20 cm (4) 25cm
Options :

92090650617. 1
92090650618. 2



92090650619. 3
92090650620. 4

Question Number : 55 Question Id : 92090612816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it P8 3 aRafde sirsar Mk 15% SR 39S HRITAR 87 uriiar 25% g1 afe 1a-
&7 @1 I 1.0 H1. 3R Ha1 1 S1AfEd Ui 2.5 g1 dl riféid =g &1 iRl &1 yRedd

(1) 109 ) 153H.
@) 209, @) 253H.
Options :

92090650617. 1
92090650618. 2
92090650619. 3
92090650620. 4

Question Number : 56 Question Id : 92090612817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 180 hector area is drained through a drain with average discharge rate of 2 m?/s. The
drainage coefficient will be:

(1 56 cm (2) 7.6cm
3 9.6 cm (4) 10.6 cm
Options :

92090650621. 1
92090650622. 2
92090650623. 3
92090650624. 4

Question Number : 56 Question Id : 92090612817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



180 §aIR &3 &) farelt suaifes & Hrerg § sfrad 3 &3 2 Hi2/A. § suarfed fasar mar |
3{Udrg unid gl

(M 569 2) 7.691
3) 969 (4) 10.6 9.1
Options :

92090650621. 1
92090650622. 2
92090650623. 3
92090650624. 4

Question Number : 57 Question Id : 92090612818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tile drains should be laid at the slope such that the minimum velocity of flow in tile
should be:

(nm 60 cm/s (2) 45 cm/s
(3) 30 cm/s 4 25cm/s
Options :

92090650625. 1
92090650626. 2
92090650627. 3
92090650628. 4

Question Number : 57 Question Id : 92090612818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eﬂg{mgw%maﬁaﬁ@mmmmmmmmmﬁm
dIam___

(1 e0dH A 2) 458 H,/ 9
(3) 309Hy/H (4) 259HI/ 9
Options :

92090650625. 1
92090650626. 2
92090650627. 3
92090650628. 4



Question Number : 58 Question Id : 92090612819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of conservation practice factor for universal soil loss equation in case of up-down
cultivation is

(1) D2 (2) 04
(3) 08 4 10
Options :

92090650629. 1
92090650630. 2
92090650631. 3
92090650632. 4

Question Number : 58 Question Id : 92090612819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3U-BT3 FW & T 7 AT &1 & g WRe Uil SRS &1 0 &

(1) 0.2 (2) 04
(3) 0.8 4 1.0
Options :

92090650629. 1
92090650630. 2
92090650631. 3
92090650632. 4

Question Number : 59 Question Id : 92090612820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of slope length factor in USLE for 22.1 m length of slope will be:

(M 1.0 (2) 08
(3) 0.6 4) 04
Options :

92090650633. 1
92090650634. 2
92090650635. 3
92090650636. 4



Question Number : 59 Question Id : 92090612820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YUY, Ud. 5. H UdUrdl &1 TS g YUl aeTs BRa BT A g

3 S K 2) DA
(3 0.6 (4) 04
Options :

92090650633. 1
92090650634. 2
92090650635. 3
92090650636. 4

Question Number : 60 Question Id : 92090612821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bench terraces with level surface are to be built on a 30% sloped land. The vertical
interval for the terraces with 4 m width will be:

(1) 0.8 m (2) 10m
3) 12m (4) 16m
Options :

92090650637. 1
92090650638. 2
92090650639. 3
92090650640. 4

Question Number : 60 Question Id : 92090612821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tdd gy ardl afeet R B 30% Uavrd Yty s 91 € | 4 Wi diets areft afgaisi & fae
SR 3T g

(1) osH, 2) 1.0
(3) 124 (4) 1.6H
Options :

92090650637. 1
92090650638. 2



92090650639. 3
92090650640. 4

Question Number : 61 Question Id : 92090612822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In low rainfall zone on 4% land slope, the vertical interval for contour bunds will be:

(1) 08m (2) 10m
(3) 1.2 m (4 15m
Options :

92090650641. 1
92090650642. 2
92090650643. 3
92090650644. 4

Question Number : 61 Question Id : 92090612822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4% Y-aurdr U fEdt sreq-auur- & § W §el g SHeafeR sRTd g

(M o0s8H 2) 1.0
@) 12 4) 154
Options :

92090650641. 1
920906500642. 2
92090650643. 3
92090650644. 4

Question Number : 62 Question Id : 92090612823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A silvi-pastoral system of land use indicate the practice of growing simultaneously:

(1) Horticultural and forest species (2) Grasses and legums along with trees
(3) Grasses and cereal crops (4) Horticultural and cereal crops
Options :

92090650645. 1



92090650646. 2
92090650647. 3
92090650648. 4

Question Number : 62 Question Id : 92090612823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ftr Sudi & Riedt agrerite ordt wry-wry 3= @1 vy giud e g

(1) 39 $¥Ia ud a9 uarfaar 2) g&if & a1y o ofiR wiert
@) 99 3R wif wad 4) IIHE FIY AR nf wad
Options :

92090650645. 1
92090650646. 2
92090650647. 3
92090650648. 4

Question Number : 63 Question Id : 92090612824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A confined aquifer of thickness ‘b’ and hydraulic conductivity 'k’ will have the
transmissibility 'T" as:

(1) T=k/b (2) T=kb
(3) T=k+b 4) T=(k-1).b
Options :

92090650649. 1
92090650650. 2
92090650651. 3
92090650652. 4

Question Number : 63 Question Id : 92090612824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RYEd] b’ AR Seeel Ardbdl 'K drd uies sdee! 31 davoreiedr (1) & gt 2

(1 T=k/b (2) T=kb
(3) T=k+b (4) T=(k-1).b



Options :

92090650649. 1
92090650650. 2
92090650651. 3
92090650652. 4

Question Number : 64 Question Id : 92090612825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The velocity of water entering the well screen is about;

(Nn 1 cm/sec (2) 3 cm/sec
(3) 5 cmy/sec (4) 8B cm/sec
Options :

92090650653. 1
92090650654. 2
92090650655. 3
92090650656. 4

Question Number : 64 Question Id : 92090612825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$U A H JAY HA 910 o d BT AT AHT__ A B

1 139,/9 2) 3adt,/3
@  s3H/A 4) sqMH/ =
Options :

92090650653. 1
92090650654. 2
92090650655. 3
92090650656. 4

Question Number : 65 Question Id : 92090612826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Soil sub-injector directly supplies water to the root zone at a depth of:

(1) 5-10 cm (2) 10-15cm
(3) 15-20 cm (4) 20-30 cm
Options :

92090650657. 1
92090650658. 2
92090650659. 3
92090650660. 4

Question Number : 65 Question Id : 92090612826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el IU-34+q: &t fra-t mivan v - & da dheht Sramafd s g 2

(M 5-10 9 2) 10-15 a1
(3)  15-20 9. (4) 20-30 H.
Options :

92090650657. 1
92090650658. 2
92090650659. 3
92090650660. 4

Question Number : 66 Question Id : 92090612827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A) : A centrifugal pump fails to deliver water.

Reasons (R) : The foot value or reflex value of the suction line is defective.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(M Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090650661. 1
92090650662. 2
92090650663. 3
92090650664. 4

Question Number : 66 Question Id : 92090612827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hi €1 du fiu U §: UH Sifiwe (Assertion A) & F4 H fifed € a1 gER1 39S HRU
(Reason R) H¥0 W

HYBUT A :  TH FHIER SHSA (UU) od UeH H3- H 3%Hd g1 ofldl 8
HRUIR : YO 3T $1 UIE HUTe 1 Ufddd HUe Ja9 8

SR Y & HTelies |, - fou e fawed] & 9 ¥ad SugeR IR &1 994 difen
(1) A ARREH U € 3R, AP TG BT &

@  ASRREH U@ g AfF R A P e e A8 B

@) AUSE AFIRID TR

4 A" TR AfBTR UG @

Options :
92090650661. 1




92090650662. 2
92090650663. 3
92090650664. 4

Question Number : 67 Question Id : 92090612828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A) :  The bench terraces with inward slope are adopted in heavy rainfall areas.

Reasons (R) : The runoff generated from heavy rainfall will move towards inside length
of terraces without damaging the outer edge or shoulder bund of the

terrace,

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090650665. 1
92090650666. 2
92090650667. 3
92090650668. 4

Question Number : 67 Question Id : 92090612828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650665. 1
92090650666. 2
92090650667. 3
92090650668. 4

Question Number : 68 Question Id : 92090612829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil erosion by water has a sequence of processes as follows:

(A) Hill erosion

(B) Gully erosion

(C)  Sheet erosion

(D)  Stream bank erosion

(E) Rain drop erosion

Choose the correct answer from the options given below :

(1 (€ (A), (E). (D), (B)
(2) (B (B), (D), (A), (Q)
(3) (A (Q) (B, (E), (D)
4 (B (Q) (A) (B), (D)

Options :

92090650669. 1
92090650670. 2
92090650671. 3



92090650672. 4

Question Number : 68 Question Id : 92090612829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650669. 1
92090650670. 2
92090650671. 3
92090650672. 4

Question Number : 69 Question Id : 92090612830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  Snowfall and hail are the forms of precipitation.

Statement I :  Convective and orographic are also the forms of precipitation.

In the light of the above statements, choose the correct answer from the options given
below :

(M Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650673. 1
92090650674. 2
92090650675. 3
92090650676. 4

Question Number : 69 Question Id : 92090612830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sy
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()  BYTI SR 1 S 3T §

(3) HYTI I g, dfhd HUT Il 3T §

4) YT 3T g, dipT YT 1 T ©
Options :

92090650673. 1

92090650674. 2

92090650675. 3
92090650676. 4



Question Number : 70 Question Id : 92090612831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement | :  Orographic type of precipitation generally occurs in coastal areas.

Ctatament Il : Convactive type of starm pracipitation gem}rally accure in hilly araac.

In the light of the above statements, choose the correct answer from the options given
below :

(nm Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650677. 1
92090650678. 2
92090650679. 3
92090650680. 4

Question Number : 70 Question Id : 92090612831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090650677. 1



92090650678. 2
92090650679. 3
92090650680. 4

Question Number : 71 Question Id : 92090612832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : In a float type rain gauge, the siphoning takes place after collecting 10
mm rainfall.
Statement |l . The tipping bucket type rain gauge generally works for the

measurement of 10 cm rainfall in a day.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct

(#) Both Statement | and Statement |l are incorrect

(3) Statement | 1s correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090650681. 1
92090650682. 2
92090650683. 3
92090650684. 4

Question Number : 71 Question Id : 92090612832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650681. 1
92090650682. 2
92090650683. 3
92090650684. 4

Question Number : 72 Question Id : 92090612833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : The rainfall intensity at a place is generally inversely proportional to its
duration.
Statement || . Isohyet method can be used to compute rainfall intensity at a place.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

92090650685. 1
92090650686. 2
92090650687. 3
92090650688. 4



Question Number : 72 Question Id : 92090612833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650685. 1
92090650686. 2
92090650687. 3
92090650688. 4

Question Number : 73 Question Id : 92090612834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  Evapotranspiration depends on temperature and relative
humidity.
Statement II :  Runoff generally depends on the climatic and physiographic factors.

In the light of the above statements, choose the correct answer from the options given
below :

(1
(2)
(3)
(4)

Both Statement | and Statement |l are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect but Statement Il is correct

Options :

92090650689. 1
92090650690. 2
92090650691. 3
92090650692. 4

Question Number : 73 Question Id : 92090612834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

92090650689. 1
92090650690. 2
92090650691. 3
92090650692. 4



Question Number : 74 Question Id : 92090612835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . In asoil sample, the porosity (n) and void ratio (e) are related as: n=
e(1-n)

Statement Il : The dry bulk density of a soil sample is more than the wet bulk
density.

In the light of the above statements, choose the correct answer from the options given
below :

(M Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650693. 1
92090650694. 2
92090650695. 3
92090650696. 4

Question Number : 74 Question Id : 92090612835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650693. 1
92090650694. 2
92090650695. 3
92090650696. 4

Question Number : 75 Question Id : 92090612836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Soil texture can be changed by cultural practices.

Statement |l :  Soil structure can be modified by cultural practices.

In the light of the above statements, choose the correct answer from the options given
below :

(n Both Statement | and Statement |l are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090650697. 1
92090650698. 2
92090650699. 3
92090650700. 4

Question Number : 75 Question Id : 92090612836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650697. 1
92090650698. 2
92090650699. 3
92090650700. 4

Question Number : 76 Question Id : 92090612837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  As per USDA, the clay particles have diameter less than
0.002 mm.
Statement I :  As per USDA, the gravel in a soil sample has the particle diameter

more than 5 mm.

In the light of the above statements, choose the correct answer from the options given
below:

(1 Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement [l is incorrect
(4) Statement | is incorrect but Statement 1l is correct
Options :
92090650701. 1
92090650702. 2

92090650703. 3
92090650704. 4



Question Number : 76 Question Id : 92090612837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650701. 1
92090650702. 2
92090650703. 3
92090650704. 4

Question Number : 77 Question Id : 92090612838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : A flowing artesian well penetrates the upper impervious layer of
a confined aquifer.

Statement || :  The peizometric surface in an artesian well remains below the ground
surface.

In the light of the above statements, choose the correct answer from the options given
below:

(m Both Statement | and Statement 1l are correct

(2) Both Statement | and Statement |l are incorrect

3 Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :
92090650705. 1



92090650706. 2
92090650707. 3
92090650708. 4

Question Number : 77 Question Id : 92090612838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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IRT HYA & e H, A B 7o fawadi 4 9 98t 3w &1 994 Sifor:

1) PRSI
2)  BYFI 3R IS ST §
3)  ®YF I TA g, AT HUT Il T 8
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Options :

92090650705. 1
92090650706. 2
92090650707. 3
92090650708. 4

Question Number : 78 Question Id : 92090612839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | :  For unconfined aquifer, the sum of specific yield and specific
retention is equal to porosity.

Statement Il . In confined aquifer the product of hydraulic conductivity and thickness

of aquifer is called transmissivity of the aquifer.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement |l are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090650709. 1
92090650710. 2
92090650711. 3
92090650712. 4

Question Number : 78 Question Id : 92090612839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650709. 1
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Question Number : 79 Question Id : 92090612840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Evapotranspiration for a crop can be estimated as a product of
pan evaporation and crop coefficient.

Statement I :  Evapotranspiration can not be measured under field conditions.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement Il are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement 1l is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650713. 1
92090650714. 2
92090650715. 3
92090650716. 4

Question Number : 79 Question Id : 92090612840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650713. 1
92090650714. 2
92090650715. 3
92090650716. 4

Question Number : 80 Question Id : 92090612841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | :  Peizometric level is related to unconfined aquifers.

Statement Il : A confined aquifer has water table as the water level.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

92090650717. 1
92090650718. 2
92090650719. 3
92090650720. 4

Question Number : 80 Question Id : 92090612841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090650717. 1
92090650718. 2

92090650719. 3
92090650720. 4

Question Number : 81 Question Id : 92090612842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | . If two centrifugal pumps are connected in series, the total
discharge will become double.

Statement I :  If two centrifugal pumps are connected in series, the total head
developed will become double.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

4 Statement | is false but Statement Il is true
Options :

92090650721. 1
92090650722. 2



92090650723. 3
92090650724. 4

Question Number : 81 Question Id : 92090612842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650721. 1
92090650722. 2
92090650723. 3
92090650724. 4

Question Number : 82 Question Id : 92090612843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . If two centrifugal pumps are joined in parallel, the total
discharge will become double.

Statement Il . If two centrifugal pumps are joined in parallel, the total head
developed will become double.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement || are false
(3) Statement | is true but Statement Il is false

(&) Statement | is false but Statement Il is true

Options :

92090650725. 1
92090650726. 2
92090650727 3
92090650728. 4

Question Number : 82 Question Id : 92090612843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650725. 1
92090650726. 2
92090650727 3



92090650728. 4

Question Number : 83 Question Id : 92090612844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Ajet pump is used when the suction lift of centrifugal pump
exceeds the permissible limit.

Statement Il :  The air lift pump uses compressed air for lifting water.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

92090650729. 1
92090650730. 2
92090650731. 3
92090650732. 4

Question Number : 83 Question Id : 92090612844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650729. 1

92090650730. 2

92090650731. 3
92090650732 4

Question Number : 84 Question Id : 92090612845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Rotary pump is a positive displacement pump.

Statement |l :  Reciprocating pump is rotodynamic pump.

In the light of the above statements, choose the correct answer from the options given
below :

(m Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true

Options :

92090650733. 1

92090650734. 2

92090650735. 3
92090650736. 4



Question Number : 84 Question Id : 92090612845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry

T Ul qHET (UY) TP YT RO qHe () 1
HYI:  YATTH SR (JU) U gofifas ered (da) 2|
JWa FYH & atd H, A 3 7o fawedl 7 § T8l 3w &1 994 Sifo:

(1) FYFI RN gade
) HYTI1 SR 1 EE 3 2
(3) HYTITd g, dfbd HY 11 IET ©
@) HYTI A E AfFTHYT 1T 8
Options :
92090650733 1
92090650734. 2

92090650735. 3
92090650736. 4

Question Number : 85 Question Id : 92090612846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Well development can be done by surging method.

Statement I . Water jet method is used for well drilling.

In the light of the above statements, choose the correct answer from the options given
below :

(m Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :
92090650737. 1



92090650738. 2
92090650739. 3
92090650740. 4

Question Number : 85 Question Id : 92090612846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRaeEfme
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)
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3)  BYTIUI g, Al HYT 11 3T 8
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Options :

92090650737. 1
92090650738. 2
92090650739. 3
92090650740. 4

Question Number : 86 Question Id : 92090612847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Agricultural drainage is necessary for the removal of excess water
from root zone.

Statement Il . Drainage is required for the removal of salts from the root zone.

In the light of the above statements, choose the correct answer from the options given
below :

)] Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false
(4 Statement | is false but Statement Il is true

Options :

92090650741. 1
92090650742. 2
92090650743. 3
92090650744. 4

Question Number : 86 Question Id : 92090612847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090650741. 1



92090650742. 2
92090650743. 3
92090650744. 4

Question Number : 87 Question Id : 92090612848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Hooghoudt's equation is used to design the sub-surface drainage
system.

Statement I :  Manning's equation can be used to design the open ditch drainage
system.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement |l is true

Options :

92090650745. 1
92090650746. 2
92090650747. 3
92090650748. 4

Question Number : 87 Question Id : 92090612848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650745. 1
92090650746. 2

92090650747. 3
92090650748. 4

Question Number : 88 Question Id : 92090612849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Mole drainage is used for surface drainage of an area.

Statement Il :  Mole drains are made with the help of mole plough and mole plug.

In the light of the above statements, choose the correct answer from the options given
below :

(m Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true

Options :



92090650749. 1
92090650750. 2
92090650751. 3
92090650752. 4

Question Number : 88 Question Id : 92090612849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R e feume:
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Options :

92090650749. 1
92090650750. 2
92090650751. 3
92090650752. 4

Question Number : 89 Question Id : 92090612850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : Contour cultivation and contour bundling are biological
measures for measures for erosion control.

Statement II : Graded bundling and terracing are engineering measures for control

of soil erosion.

In the light of the above statements, choose the correct answer from the options given
below :

()] Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
3 Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true

Options :

92090650753. 1
92090650754. 2
92090650755. 3
92090650756. 4

Question Number : 89 Question Id : 92090612850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650753. 1



92090650754. 2
92090650755. 3
92090650756. 4

Question Number : 90 Question Id : 92090612851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Brushwood edging can be used for the protection of stream
banks.
Statement Il . Sodding or turfing can be used for protection of stream bank slopes.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true

Options :

92090650757. 1
92090650758. 2
92090650759. 3
92090650760. 4

Question Number : 90 Question Id : 92090612851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650757 1
92090650758. 2
92090650759. 3
92090650760. 4

Question
Question

Number : 91 Question Id : 92090612852 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Vegetative measures and tillage practices can reduce wind
erosion.
Statement |l :  Vegetation cover and chemical measures can be used for stabilization

of sand dunes.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement Il is true

Options :

92090650761. 1
92090650762. 2



92090650763. 3
92090650764. 4

Question Number : 91 Question Id : 92090612852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650761. 1

92090650762. 2

92090650763. 3
92090650764. 4

Question Number : 92 Question Id : 92090612853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Initiation and saltation are the phases of wind erosion.

Statement Il : Suspension and transportation are the types of movement of soil
particles by wind.

In the light of the above statements, choose the correct answer from the options given
below :

()] Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true

Options :

92090650765. 1
92090650766. 2
92090650767. 3
92090650768. 4

Question Number : 92 Question Id : 92090612853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fume:

FUT| . THRHA 3R IARadH, ardig e 1 UawTd 2|

FI ;e oIk aRaed, I & gR1 9al U1 & 99 & TSR 2
SR HY & s 1, - fou e fawadl § 9 98t 3w &1 994 SIS
1) HYI RN I e

() FUTI MR NS A e

) e | T g, b B 11 3T &

@) HYTI A g, AfFTFUT NI

Options :

92090650765. 1
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92090650768. 4

Question Number : 93 Question Id : 92090612854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  The volute type of centrifugal pump is preferred for lower
discharge.
Statement Il :  Volute type pump is desirable for low head applications.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true
Options :
92090650769. 1
92090650770. 2
92090650771. 3
92090650772. 4

Question Number : 93 Question Id : 92090612854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650769. 1
92090650770. 2

92090650771. 3
92090650772. 4

Question Number : 94 Question Id : 92090612855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The types of surface drainage system used in flat areas include:
(A)  Random drain system
(B) Tile drain system
(C) Parallel field drain system
(D)  Parallel open ditch system
(E) Bedding system

Choose the correct answer from the options given below :

(1) (A), (B), (D), () only
2 (A (O) (D). (E) only
(3)  (B) (C). (D), (E) only
4)  (A), (B), (C), (D) only
Options :
92090650773. 1
92090650774. 2

92090650775. 3
92090650776. 4



Question Number : 94 Question Id : 92090612855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650773. 1
92090650774. 2
92090650775. 3
92090650776. 4

Question Number : 95 Question Id : 92090612856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List 11
(A) Hydraulic ram () Priming
(B) Centrifugal pump ()  Under water operation
(C)  Air lift pump () No external power source
(D) Submersible pump (IV) Compressed air

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(lm), (Q)-(1V), (D)-(11)
(2)  (A)-(), (B)-(D), (C)-(1), (D)-(IV)
(3)  (A)-(l), (B)-(D), (C)-(1V), (D)-(II)
@ (A=, (B)-(I1), (C)-(IN), (D)-(IV)

Options :

92090650777. 1
92090650778. 2
92090650779. 3
92090650780. 4

Question Number : 95 Question Id : 92090612856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G | & a1 = 11 61 e Sifo
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(€ 91 ISP GHSE(UY) () ®rg arg1 AfFa-&a T8l
(D) Mg gaEd @) (1v) Idifgaayg

i fau T fasedt & O 9 IR &1 994 e

(M (A)-(), (B)-(), (C)-(1V), (D)-(I)

(2) (A)-(11), (B)-(1), (C)-(111), (D)-(1V)

(3) (A=), (B)-(1), (C)-(1V), (D)-(1I)

@ (A=, (B)-(I, (C)-(11), (D)-(IV)
Options :

92090650777. 1
92090650778. 2



92090650779. 3
92090650780. 4

Question Number : 96 Question Id : 92090612857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Cavity well ()  Uniformity coefficient
(B) Sieve analysis (I No strainer
(C) Gravitational water (I Soil moisture
(D) Tensiometer (V) Free water

Choose the correct answer from the options given below :

(1 (A, (B)-(1), (C)-(1V), (D)-(IlT)
(2) (A1), (B)-(1), (C)-(1V), (D)-(IlN)
(3 (A, (B)-(IV), (C)-(D), (D)-(1lT)
(4) (A)-(1m), (B)-(1), (C)-(11), (D)-(IV)

Options :

92090650781. 1
92090650782. 2
92090650783. 3
92090650784. 4

Question Number : 96 Question Id : 92090612857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(M (A)-(), (B)-(1), (C)-(IV), (D)-(1lT)
(2 (A=) (B)-(IN), (Q)-(1V), (D)-(lIT)
(3)  (A)-(), (B)-(IV), (C)-(1), (D)-(I)
@ (A)-(), (B)-(1), (C)-(11), (D)-(IV)

Options :

92090650781. 1
92090650782. 2
92090650783. 3
92090650784. 4

Question Number : 97 Question Id : 92090612858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List 1l
(A) Duty (I  Stream bank erosion
(B) Spur (I Wind erosion
(C) Surface creep (i)  Agroforestry system
(D) Alley cropping (IV) Depth of water

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(1), (C)-(IV), (D)-(II)

(2)  (A)-(l), (B)-(IV), (C)-(1), (D)-(IlN)

(3)  (A)-(IV), (B)-(1), (C)-(l), (D)-(1I)
)

(4 (A)-(IV), (B)-(11T), (C)-(1), (D)-(1I)

Options :
92090650785. 1
92090650786. 2



92090650787. 3
92090650788. 4

Question Number : 97 Question Id : 92090612858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(M (A1), (B)-(1), (C)-(1V), (D)-(IT)
(2)  (A)-(l), (B)-(IV), (C)-(1), (D)-(Ii)
(3 (A)-(IV), (B)-(1), (C)-(l1), (D)-(IN)
@ (A)-(V), (B)-(Il), (C)-(1), (D)-(1)

Options :

92090650785. 1

92090650786. 2

92090650787. 3
92090650788. 4

Question Number : 98 Question Id : 92090612859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List |
(A) Herring bone
(B) Impeller
(C) Surging
(D) Aquiclude

0
(1
()
(V)

List Il

Centrifugal pump
Well development
Aquifer

Tile drainage

Choose the correct answer from the options given below :

(M (A1, (B)-(H), (C)-(I1), (D)-(IV)
(2)  (A)-(I), (B)-(IV), (C)-(liN), (D)-(IT)
(3)  (A)-(I, (B)-(In), (C)-(IV), (D)-(1)
@ (A)-(IV), (B)-(I), (C)-(ln), (D)-(I)

Options :

92090650789. 1
92090650790. 2
92090650791. 3
92090650792. 4

Question Number : 98 Question Id : 92090612859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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(M (A=), (B)-(H), (C)-(1), (D)-(IV)

(2) (A1), (B)-(IV), (C)-(llI), (D)-(11)

(3)  (A)-(1), (B)-(IN), (C)-(1V), (D)-(I)

4 (A)-(IV), (B)-(1), (C)-(l1), (D)-(lIT)
Options :

92090650789. 1
92090650790. 2



92090650791. 3
92090650792. 4

Question Number : 99 Question Id : 92090612860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il -

List | List 11
(A) Chute spillway () Dnp irngation
(B) Anti-seep collar ()  Drop inlet structure
(C) Grid iron (Il1y  SAF stilling basin
(D) Emitters (V) Tile drains

Choose the correct answer from the options given below :

(1 (A)-(), (B)-(1V), (C)-(1), (D)-(HI)
(2) (A=), (B)-(In, (C)-(IV), (D)-()
(3 (A)-(I), (B)-(), (C)-(11), (D)-(IV)
@) (A)-(), (B)-(h), (C)-(1), (D)-(IV)

Options :

92090650793. 1
92090650794. 2
92090650795. 3
92090650796. 4

Question Number : 99 Question Id : 92090612860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 & a1y gt 1 &1 e S

Tl G-I
(A)  vafreT sftreg Tt M = (de) R
(B) R f=ig Bier (I GULESEER
(C) WICHERI dgdr () U9 U U fRro goft
(D) IAoib (V) UG (TS HUudIgHT

e feu o fawedt & Q@ Wl IR &1 99 Sifoe:

(M (A)-(D, (B)-(1V), (C)-(l), (D)-(IIN)
(2)  (A)-(1), (B)-(I), (C)-(IV), (D)-(I)
(3) (A=, (B)-(D, (C)-(11), (D)-(1V)
@) (A, (B)-(I, (C)-(D, (D)-(IV)

Options :

92090650793. 1
92090650794. 2
92090650795. 3
92090650796. 4

Question Number : 100 Question Id : 92090612861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Arcview h Gls
(B) Plotter (I Software
(C) Raster (Il Land use-land cover
(D) Thematic map (V) Hardware

Choose the correct answer from the options given below :

(10 A-0), (B)-(V), (©)-(l), (D)-(1)
(2) (A1), (B)-(1), (C)-(11), (D)-(IV)
(3)  (A)-(1I), (B)-(I), (C)-(1V), (D)-(I)
4) (A, (B)-(1IV), (C)-(1), (D)-(1iI)

Options :
92090650797. 1



92090650798. 2
92090650799. 3
92090650800. 4

Question Number : 100 Question Id : 92090612861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y1 | & 1Y Gt 11 &1 e Sifee

Tl -1l
(A) dAYETY () o 3m$ TH
(B) SrafEd () &1 gyt
© FeaEgs (i ¥ ITEIT-Yf sreaRor
(D) I AEREA (Iv) OF It
A fau e fassed! & @ gt IR &1 994 ST

(M (A)-(D), (B)-(1V), (C)-(l1), (D)-(III)
(2) (A=), (B)-(D), (C)-(HD), (D)-(1V)
(3) (A=), (B)-(l1), (C)-(1v), (D)-(I)
@) (A=), (B)-(IV), (Q)-(1), (D)-(1)

Options :

92090650797. 1

92090650798. 2

92090650799. 3
92090650800. 4



